
Practice	
  Problem:	
  
	
  

	
  
	
  
Step	
  1:	
  draw	
  in	
  the	
  force	
  of	
  gravity	
  at	
  the	
  midpoint	
  (it	
  is	
  100N,	
  2.5m	
  from	
  the	
  end)	
  	
  
Step	
  2:	
  Select	
  a	
  Pivot	
  Point	
  (Far	
  to	
  the	
  right	
  is	
  best	
  because	
  it	
  cancels	
  out	
  two	
  

forces)	
  
Step	
  3:	
  Choose	
  positive	
  rotation	
  around	
  the	
  pivot	
  point	
  (draw	
  it	
  in)	
  
Step	
  4:	
  Write	
  net	
  torque	
  =	
  0.	
  	
  

Set	
  r	
  as	
  the	
  distance	
  from	
  the	
  pivot	
  point.	
  	
  
	
  

	
  

	
  



	
  
	
  

	
  
	
  
	
  


